STAR

VS TIT77>727
# A =X
WE— K K 28107
iy =X FDTB—7RC

- BB TEXOREIE. BTRXESERT S,
- AP ERO—ARICIE, e -y MGEOADEELHY £T,

HUREIHIA Y —




=

D TEXITONT

HESROBBERIZCDONNT

L Bk SO, TRUEE &2 JEE <72

X
@
)
®
@
®

s

Y

5
I, (
nn%

=]
=]

HD%

o

L% )

BOLOHEER
B oan

X (WEES) ITEEERE X ORE
WA DR — BT L— MZERLTWVET,

2. EEMOH: [, UTozlezRLT
BOET,

Hvame mmaEn o sk
PSR E 2 1T &Y R DR,
T oA BICEENSIEHT, B
fh TR L7 ERdh,

Im

= DBLEL DR PR 5 D LS AR (IR 1.,
BEITHE 0 % 9 ETF, 770 L, BHAERN
ThoTh, HHHRBICOVTTM R 2D
MBS HTOEELEE b ET,
SR OSSR R 12 R ORI
THRT LETH, REREEBTHoTH,
RGO THERE R B o AT X O
BIZOWT SRS TV £,




FDTB-7RC
JL—LEEH

No| mids B Bk B[ No. | =& 3 Btk B
1 | E2955-001 [ —.1 1|[BT-1] E2010-018 |k M12 % 45(SW,N) 8
2 | E2955-011 |[HAKIL—L 2 ||BT-2{ E2010-104 |AJL M18 X 130(SW,N) 1
3 | E2700-065 [T ANHS— 20A X 55 1 ||BT-3] E2010-033 |#JLF M14 x 50(P2) 2
4 | E2700-055 [y UL HEY |3ERAA4T 1
5 | E2700-061 |fAZEE 4mm 1
6 | E2955-006 | R kst 19 X 32 2
7 | E2700-032 [O0—)LE 13% 35 2
8 | E2700-034[m—E> 8% 35 2
9 | E2802-020 | X Y24 2
10 | E2889-006 |[A 7oL vk [CATI,CATI 1
11 | E2888-012 | % b hS5— 2
12 | E2625-101 [ FEY 10mm 2

('08,05,14380)




FDTB-7RC
TATEH

No.| &% B g B || No. mE - H&A biikisd B8
1 | E2955-002 |17 L—k 7 [1BT-1] E2010-029 |)L M12 x 120(SW,N) 21
2 | E2955-003 | F 12T 54wk 7 §BT-2| E2010-035 |7KJL b M14 % 55(SW,N) 7
3 | E2955-004 |12 7 JiBT-3| E2010-170 | R£HRILk M12 X 55 (SW,N) 7
4 | E2955-012 | F kA (FTa) (7)||BT-4| E2010-011 [mAJL+ M10 x 70(SW,N) 7
5 | E2955-014|X%B (A7) (7)||BT-5| E2010-010 [MA Lk M10 % 50 (SW,N) 7
6 | E2955-034 | H4EC 7
7 | E2955~017 | H %D (FF3v) (7)
8 | E2955-044 | H%E (AT aV)|TLAE (7)

(07,11,20% )




FDTB-7RC
haO—S5—gFiH

No.| BT R FRAE # | No. SE B &2 FHAE JEE
1 | E2955-026 | 7—L 054wk 2 IBT-1| E2010-173 |R)L I M16 X 90 (SW) 4
2 | E2955-027 |o—5—7—L 2 IBT-2| E2010-056 | )Lk M16 X 50 (SW,PW,N) 4
3 | E2955-028 |7 —LTL—b 2 ||BT-3| E2010-068 | )L M16 x 70 (SW,N) 2
4 [E2955-029 [0—S5—oL—L4 1[|BT-4| E2010-190 | )L+ M16 X 110(SW,N) 2
5 | E2925-519 |74 FL205 2
6 | E2955-111 [hT—S5— 1
7 |E2700-054 |0—)LE Y 635 2
8 | E2955-025 [twhEY 16 X 65 2
9 | E2625-100|UvFEY 6mm 2




FDTB-7RC
RERI FFRILE —EH

No = B 3R Bk || No. s HRA | 3R EE
1 | E2955-033 | R&7R)L 7RV A —{FDTB 1 ||BT-1]{E2010-018 {RJL(8.8) M12 X 45P1.5(SW,N) 4
BT-2| E2010-170| R £ARILM4.8) [M12x 55P1.75(SW,N) 5

('07,03,12;841)




FDTB-7RC
T— R4 IVEE

\2

No.| &% TR R B2 || No. i e g [EE:

1 | E2955-009 [RJL 5 — L 1||BT-1| E2010-018 /L (8.8) M12 X 45P1.5(SW.N) 2
E2955-023 R 1

2 | E2890-003 | 25— 19X 65 2

3 | E2010-030 |/3—5 )T ALK [M12 X 40(W) 2

4 [ E2955-036 [/ \TT v TR M24P3 M14P1.5 2

5 { E2955-037 [Fvv 2

6 | E2955-038 [{R—)LA 7L 4 [6205LLU 4

7 | E2955-039 | %1+ (7K JLF) |16 X 6.50-8—-4PR 2

8 | E2955-040 [h5— 2

9 | E2955-041 |F v 2

10 | E2955-025 | v hEY 16 X 65 2

11| E2625-100 | FE > 6mm 2

('07,03,12;800)




FDTB-7RC
XY RE—FRE 2 FE

No.| @& e % {E 4§l No. mE HRB g R
1 | E2955-046 | x5 FEfT7S54 v kL 1|{BT-1] E2010-018 |#RJL I M12 % 45(SW,N) 4
2 | E2955-047 R 1 |BT-2| E2010-024 | Lk M12 X 60 (SW,N) 8
3 | E2955-048 | R AV R/I(T it 2 IBT-3| E2010-005 |[7R)L M10 % 30(SW,N) 8
4 | E2955-049 | AR KR4 T 2 ||BT-4| E2010-212 |#R)L+ M8 X 25 (SW,N) 8
5 | E2955-050 |BEIFE 7L —F 4
6 | E2955-025 |t2whE s 16 X 65 2
7 | E2625-100 1) FEY 8mm 2
8 | E2955-051 |+ R 2— STM-100VS W-3 2
9 | E2955-052 |F ¥ AA— SKM-100VA 2

('08,05,14;810)













{1}

S—080516A

A £ 066-8555 FmMLE#106 152
TEL 0123—26—1123
FAX 0123—26—2412
TREXEM 066-85 FEHLES1061%FMH2
TEL 01283—22—~5131
FAX 0123—26-2035
BB PR 070-8004 JEJITH#AZE4%ZOTEIZ3IEE
TEL 0166—61—6131
FAX 0166—62—8985

EEEER 0984100 XIEBESEIFEHORY 1191544
TEL 0162—82—1932
FAX 0162—82—1696

WIRE XM 0802462 HEHAE22%&k1THEH12%H#4
TEL 0155—37—3080
_ FAX 0155—37—5187
hEEEER 086-1152 iZEEhiE:EETILET2 TH 1 6 %
TEL 0153—72—2624
FAX 0153—73—2540
TEEE X 028-3172 EFEEESHTREAETILFHE 1 11421 2083
TEL 0198—46—1311
FAX 0198—45—5999

fil & & F£Fr  983-0013  EHEMATEHBRDEEME 17 9— 1
TEL 022—388—-8673
FAX 022—388—8735

Il E ERT 323-0158  HAE/NMUFGR251 2 — 1
TEL 0285—49—-1500
FAX 0285—49—-1560

M E ¥R 700-0973 EILERUFTFTHEH704—-103
TEL 086—243—1147
FAX 086—243—12609

FE KB XFr 861-8039 MEABEATESE1TH28 18
TEL 096—381—7222

_ FAXK 096—-384—3525

#WE X Fr 885-1202 =iXEHTEHETER1003—2
TEL 0986—~53—
FAX 0986—53—

D.20.05.2S @



